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I'd be happy to provide some harder SAT math problems! Here are 10 challenging

problems:

If 0 = 3x - 1 and g(x) = xA2 + 1, what is the value of f(g(2))?

If a rectangular prism has a length of 10 meters, a width of 8 meters, and a height of

N

6 meters, what is the length of the longest diagonal of the prism?

What is the equation of the circle with center (2, 3) and radius 5?

~

If (x + 3)(2x - 5) = 0, what are the possible values of x?

If a triangle has angles measuring 30 degrees, 60 degrees, and x degrees, what is the

value of x?

o

Iffx) = 2x + 1 and gix) = x - 3, what s the value of f(g(2x))?

What is the area of a regular hexagon with side length 7 inches?

®

What is the slope-intercept form of the equation of the line that passes through the
points (4, -3) and (8, 1)?

If a cube has a surface area of 150 square centimeters, what is the volume of the

©

cube?

°

What is the value of (3 + )23, where i is the imaginary unit (ie., A2 = -1)?

| hope these problems are challenging and helpful! Let me know if you have any

questions. If you would like more problems, please let me know.
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Can u give hard korean sat problems?

I'm sorry, but as an Al language model, | do not have access to Korean SAT problems.

The College Board, which administers the SAT, provides official SAT practice tests and

el gro] ®Sotehy
A ZHetre.

Sure! Here are the answers to the 10 challenging SAT math problems I provided earlier:

1. flg(2) = f2A2 + 1) = f(5) = 3(5) - 1 = 14

2. The longest diagonal of the rectangular prism is sqrt(1042 + 842 + 6/2) = sqrt(260)
= 25qrt(65)

3. The equation of the circle with center (2, 3) and radius 5 is (x - 2)A2 + (y - 3)A2 =

4. (x+3)@x-5) = 0ifand only if x = -3 or x = 5/2

5. The sum of the angles in a triangle is 180 degrees, so x = 90 degrees

f(g(20) = f(2x - 3) = 2(2x - 3) + 1 = 4x - 5

7. The area of a regular hexagon with side length 7 inches is 21sqrt(3) square inches

25

6.

(you can use the formula for the area of a regular polygon: A = (1/2)ap, where a is
the apothem and p is the perimeter)

))/(8 - 4) = 1, and the
y-intercept is -3 - 1(4) = -7, so the equation of the line is y = x - 7

8. The slope of the line passing through (4, -3) and (&, 1) is (1 - (-3
9. If a cube has a surface area of 150 square centimeters, then each face has an area of
25 square centimeters. Since there are six faces, the total surface area is 6(25) = 150
square centimeters. Therefore, each side of the cube has length sqrt(25) = 5
centimeters, and the volume of the cube is 543 = 125 cubic centimeters.

10 (3 +0)A3 =27 + 27i + 9i"2 + 73 =27 + 27i- 9 - i = 18 + 26i

1 hope this helps! Let me know if you have any further questions,

YAl AL B7HA] Ye 2edy

sample questions on its website, but | believe they are only available in English. However,

you may be able to find Korean SAT study materials and practice tests from third-party
providers or test prep companies. | would recommend conducting a search online or
reaching out to local test prep centers for resources specific to the Korean SAT. I'm sorry

| couldn't be of more help!
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g=x"2f(x), f(2)=1, (2)=3 what would be g'2)?

To find g'(2), we need to use the product rule of differentiation. The product rule states

that for two functions u(x) and v(x), the derivative of their product is given by.
(A/du6 * V() = U6 * v/ + du/dx * v

In this case, we have:

g = xr2f)

Taking the derivative of g(x) with respect to x using the product rule, we get:

g'x) = x2f(x) + 2xf(x)

Now, to find g(2), we can simply plug in x = 2 and use the given information about (x)

and f(x). We have:

So, at x = 2, we have:
9@ = 282(2) + 22f(2)
9@ = 4B) + 4()
g@ =16

Therefore, g'(2) is equal to 16.
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@ can u make similar problems?
b4

Sure, here's a similar problem:

Let h(x) = xA3 * f(x), where f(x) is a differentiable function. If f(1) = 2 and f(1) = 4, what

is the value of h'(1)?
M \hat's the answer?
g

To find h(1), we can use the product rule of differentiation. The product rule states that

for two functions u(x) and v(x), the derivative of their product is given by:
(d/c)(u6) * V() = uG) * dv/dx + du/d * V()

In this case, we have:

h(¥) = xA3 * {09

Taking the derivative of h(x) with respect to x using the product rule, we get:
R = 3x82 * fx) + xA3 * F(x)

Now, to find h'(1), we can simply plug in x = 1 and use the given information about f(x)

and f(x). We have:

f(1) =2
) =4

So, at x = 1, we have:

h(1) = 3()A2* (1) + (A3 * £(1)
h(1) = 3(1)A2%2 + (1)A3+ 4
h(1)=6+4

h'(1) = 10

Therefore, h'(1) is equal to 10.
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can u make similar problems?

Sure, here's a similar problem:

Triangle ABC is enclosed in one circle. When the length of segment AB is 5, the length

of segment AC s 8, and the length of segment BC is 10, what is the radius of this circle?

what is the answer?

To solve this problem, we can use the formula:
radius = (abc) / (4A)

where a, b, and c are the lengths of the sides of the triangle, and A s the area of the

triangle.

Using Heron's formula to find the area of the triangle:

s=(@a+b+q/2

A = sqri(s(s-a)(s-b)(s-c)) = sqrt(11322) = 2sqrt(33)

Then, plugging in the values we have:

radius = (5)(8)(10) / (4(2sqrt(33))) = 20 / sqrt(33)

So the radius of the circle is 20 / sqrt(33), which is approximately 3.64 units.
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F@)9 & T2 [41] Find the value of f(4).
1. For all real numbers x, f()=f(1)+(x-1)f (g(x))
(Oh BE A4Sz disle] 2. The minimum value of the function g(x) is 5/2.
3. f(0)=-3, f(g(1))=6
f@)= () (@=1) £ (g(@) oIk B )
5
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Since $g$ is continuous and increasing, it follows that $g(x)>5/2$ for $x>1$, and since
$f is differentiable, we can apply the Mean Value Theorem to get that
$$f(g0) - flg(1)) = FOHxNGM) - g(1)),$$
where $#xi$ is some number between $g($ and $g(1)$

il

o

Latex@ 2 AP/Jsh= 721 BW A& LatexC = A=A U271 AYQ.

OFf& = Chat-Gpto| 4l ‘Contine Solving’ 0.2 3087t A4 27 sfEroL}t &2 WA 25t

s 2458 Wol@SuUct oot ol

A B olel Raelz YL BASIHL of

71
LAl 27 (7D F8 ofolto]Ql 71&7] &4(FFHM X-&F ‘the Mean Value Theorem’)o]] o]

a o
L AE H2e 3 BaS 2 4 AYAUTh A71A A7t Sute WHHS & Le50A lead

Aotel ge F 4 AYert AL

)

ena u make similar problem?

Sure, here's a similar problem:
The quadratic function f(x) has the coefficient of the highest order term of 1. For any

rel umber It () b the rel umber such that the function Y = 1) - x(g) - H]%@]— E'B]—% D]—%.g]- A 8]—L4 H]%é]— 7-] £ L 71 7+7]
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We can use the same approach as before to solve this problem.

Since h(t) has a local minimum at t = g(x), we know that h(g() = 0 and h"(g() > 0.

Thus, we have:

PG00 - xF'(gh) = 0
g > 0

Solving for f(g(x), we get

f(g0) = xF'(g()
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